HYDRAULIC SWING CLAMPS | iHE#E&IIZRT

CHA

R AL

CHA HYDRAULIC

SWING CLAMP

EmFIE
IRIIERECHHRAENRT, HEEEE
MEZ, ReTEMRE. ERFATE
FBipEEsRst RS T hENES T BIRT S
B,

EmdERiTEasiiEel, 8RTS
[DSES

BRAIRIEES: 70 kgf/cm’
/MRS 15 kgf/cm’
fEEhS=: 1B

EI=E

RS P R E,
EERERAT, BERME,
TSR, BLEAATE,

:TES1E7Ri% ORDERING INDICATION
5:fl: CHA-040SL-90GM

CHA 7%l Series
040 5
S EER Clamping arm type
L E#f75mSwing direction
90 g angie

EREE: SH (1EE)

M M: SRRl Ee = e Y
N: ZERGAlEs e EEa
XD : EHER

039 | & i E i K 5

£

FEATURES ZIEE Sectional view
This series product with the optimal design, so WEE (5365 [
made more impact and strength can be improved. é;;ggg?\) e—
Product with special dust proof design, dust proof

and sealing have been improved, so it has high \ G
sealing performance. /

Design of product structure with high anti-torque,
realize high durability.

. SIRImER
Max. operating pressure : 70 kgf/cm’ w
Min. operating pressure : 15 kgf/cm®

Double acting

NOTE

The acting speed of clamping-unclamping should be slowed down.

The methods remove and the rotation diagram of the clamp arm, please
refer to page 4.

Orders with customized request are available, welcome to reach us.

CHA

036: ®1 =36 040: ®l =40 048: ¢l =48 055: Pl =55

065: @1 =65 075: ®I =75 090: ®I =90 105: ®I =105

SEIBRE S: Single side arm

D:EEEE D: Double side arm (51 ERENEEHRE)
L: £ R: A L:Left  RRight

AR Standard angle 90°(+2°)

I HEE Order angle 30°(+2°),45°(+2°),60°(+2°)

s mes Sk

G: jHEEHREY ;

C: Manifold with
flow control

C: HERZUMIEEE

LINE TYPE GMANIFOLD TYPE  CMANIFOLD WITH FLOW CONTROL
EEL G C: IEREIRE B

Blank: Standard

M: Air sensor manifold option
N: Air sensor piping option
XD: Double end rod option

SINGLE SIDE SWING CLAMP DOUBLE SIDE SWING CLAMP
i1 MEAEA0FRFHREE
J2 Je
K 4-L K
o= R =
:ffn(‘)/ - N ry \ :ff”@%/ . \\\\Cﬂ
,:L% ® \ ,:L% /® \
i it RNV S et - 43 M o
I fj\{\@ HERGEE I fjf\@ / R
o6 ',/ o 1§
N o . 4-L
3 FERIREE 3
BERIYE
El Q‘l
|
b T E2
g | & E’;
V=iE
- —
e | T 2
AR
0-Ring ‘ ‘
|
!
?1
B 357l Clamping port
® HEEHFL Unclamping port
IRIg 283 SPECIFICATION
WR Coier WETE KRGE R
MOBEL o\ ctlnt g STROKE ()| ST ) STROREG)
CHA-036 220 55 8 135
CHA-040 2842 6.5 8 14.5
CHA-048 4459 7.5 8 15.5
CHA-055 721 8.5 10 185
CHA-065 880 10 10 20
CHA-075 1421 12 12 24
CHA-090 1978 14 12 26
CHA-105 2789 16 16 32

MODEL
ITEM

ST:Swing
/Clamp

AR

Unclamping

A25EFRARE

Unclamping

AR

Unclamping
B
C

D1
D2
D3
D4
E1
E2
H
(0]
N

EE=RiE0

Unit:mm

CHA-036 CHA-040 CHA-048 CHA-055 CHA-065 CHA-075 CHA-090 CHA-105

135:55/8 145:65/8 155:75/8 18585/10 20:10/10 24:12/12 26:14/12  32:16/16

96.5

128.5

126.5

79
28
19
29
27.5
12

1095 116 135 146 178

1455 156 181 203 240

1435 156 181 203 238

89 94 109 120 144
30 31 38 46 56

22 25 31 38 44

33 40 45 54 60
315 385 435 525 585
125 165 19 235 255

M14X1.5 M16X1.5 M20X1.5 M22X1.5 M27X1.5 M30X15 M39X15 M48X15

®36 P40 D48 B55 P65 D75

®8
10

51
61
355
040

®10 @13 D13 P16 @20
12 14 16 22 26
®90 @105
60 70 80 95 110
69 81 92 107 122
39 46 52 595 67
o047 o©o55 o©63 o075 o088

045-075 055-09 ©55-09 ©68-011 96.8-011 ©9-014 11-0175 D14-020

80 88
104 115
102 113
645 715

25 25

14 16

25 25

21 24

9 11

o6 »6

7 8

40 45

49 54

29 315

0314 o34

X5D X6D

16 18
235 26

®15 D18 d22 P25
®135 P16 P20 D23

X6D
22
30

X7D X7D X9D X11D X14D
24 30 32 37 45
335 395 45 525 60
®30 ®355 D45 D55
®28 ®335 @43 53

Portwith  2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/4 2-PT1/4 2-PT3/8 2-PT3/8

Line type

OZE
0-Ring

HEHETE

P5

P5

P5

P5 p7 p7 p7 p7

FAERE HEHZEEE MAZREE ERLESE (ERRE

CYLINDER CAPACITY  CYLINDER CAPACITY
CLAMP(cm)

UNCLAMP(cm)
6.63
9.57

15.76
28.12
38.60
72.46
114.82
203.50

4.24

5.89

9.87

19.06
25.14
48.7
7348
127.5

EFFPISTON AREA  EFFPISTON AREA RANGE OF USABLE
UNCLAMP(cm?) CLAMP(cm) TEMPERATURE(°C) FLUID
491 314 -10~+70°C
6.6 406 -10~+70°C
7o | TBERISOREE
10.17 6.37 -10~+70°C SISO VG
15.2 103 -10~+70°C 32— &EH
General
19.63 12.57 -10~+70°C  Hydraulic O
Equivalent to
30.19 203 -10~+70°C 'SO-VG32
4416 2826 -10~+70°C
63.59 3984 -10~+70°C

PNEUMATIC & HYDRAULIC CLAMPS | 040



tt: FEILACHA-MBIERRIIkEE

REY

J REWF

LB

~—N [EEEAEREY (LA 180°1HR)
HERT REREER I E

Al
A2

MB

J  mmEzmO
.l @8

REHERAE O

i (=5)

..F;-T{I:
P
i
DL_L:If
=
=
H
A
)

MF
MM

ML BAE
MG

MJ

MHLIMH

MKILE
[_e
<
(@]
jm}

MF+0.4_

® 357l Clamping port
® WE&ifFL Unclamping port

041 | &M B R 5

5
7 e 75 1A)

MODEL
ITEM

ST:Swing
/Clamp

A FERRARE

Unclamping

A253RiRAE

Unclamping

B

C
D1

E1
(0]

n
J2
J3

K

L
M
N
Q

Line type

ORE
0 - Ring

Unit:mm

CHA- CHA- CHA- CHA- CHA- CHA- CHA- CHA-
036M 040M 048M 055M 065M 075M 090M  105M

13555/8 145:65/8 1557.5/8 18585/10 20:10/10 24:12/12 26:14/12  32:16/16

80 88 965 1095 116 135 148 178

104 115 1285 1455 156 181 203 240

645 715 79 89 94 109 120 144
25 25 28 30 31 38 46 56
14 16 19 22 25 31 38 44
M14X15 M16X15 M20X1.5 M22X1.5 M27X1.5 M30X1.5 M39X1.5 M48X1.5
P36 P40 D48 P55 D65 D75 D0 P105
40 45 51 60 70 80 95 110
49 54 61 69 81 92 107 122
29 315 355 39 46 52 595 67

0314 o34 ©40 od47 oS5 o063 o7b5 088

©45-075 955-09 @55-09 068-011 P6.8-011 ©9-014 O11-0175 ©14-020
X5D X6D X6D X7D X7D XD  X11D X14D

16 18 22 24 30 32 37 45
235 26 30 335 395 45 525 60
®15 P18 P22 d25 @30 D355 P45 P55

2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/4 2-PT1/4 2-PT3/8 2-PT3/8

P5 P5 P5 P5 P7 P7 P7 P7

-0.03 -0.03 -0.03 -0.03 -0.03 -0.03

-003 -003 I
MAf8 345 38, 45 45 45 =53 - 53 - 53

0.06 -0.06 -0.06 -0.06 -0.07 -0.07 -0.07

MAHS 34.5*0(')04 38*0(')"4 45°% 450% 450% 531004 5300 3004

MB
MC
MD
ME
MF
MG
MH
MJ
MK
ML
MM

0 0 0 0 0 0
32 33 385 385 405 49 49 575

357 392 462 462 462 542 542 542
494 575 654 734 794 865 895 1065
624 705 789 869 929 106 109 126
40 47 53 61 65 74 77 94
49 6 79 79 99 75 7.5 7.5
9 9 9 10 10 10
4 4 4.5 45 45 95 9.5 9.5
6.5 6.5 8 8 8 11 11 16.5
734 815 914 994 1054 122 125 1475
1.1 15 15 15 15 15 15 1.5

tt: FEIUCHA-NESBIRAE

A L

EEEAMERE (LA 80°1ER)

A2

Al

NB

5

ErreRE 0
PT1/8 (ZR)

REREZREO
PT1/8 (ZR)

— RO

| 2-NGiEsL

® 3wl Clamping port
® ME&HFL Unclamping port

MODEL
ITEM

ST:Swing
/Clamp
ATFERRARE

Unclamping

A25ARAE

Unclamping

B

C
D1

E1
0]l
N
J2
J3

K

L

M
N

Q

EE=timn
Port with

Line type
oRE
0 - Ring
®ONA
NB
NC
ND
NE

NF

Unit:mm

CHA- CHA- CHA- CHA- CHA- CHA- CHA- CHA-
036N 040N 048N 055N 065N 075N 090N 105N

13555/8 145:65/8 1557.5/8 18585/10 20:10/10 24:12/12 26:14/12  32:16/16

80 88 965 1095 116 135 148 178

104 115 1285 1455 156 181 203 240

645 715 79 89 94 109 120 144
25 25 28 30 31 38 46 56
14 16 19 22 25 31 38 44
M14X15 M16X15 M20X1.5 M22X1.5 M27X1.5 M30X1.5 M39X1.5 M48X15
P36 P40 P48 P55 D65 D75 D90 P105
40 45 51 60 70 80 95 110
49 54 61 69 81 92 107 122
29 315 355 39 46 52 595 67

0314 o34 o040 od47 ob5 063 o075 088

©45-075 @55-09 B55-09 96.8-011 ©68-O11 ©9-014 ®11-0175 ©14-020
X5D X6D X6D X7D X7D XD X11D X14D

16 18 22 24 30 32 37 45
235 26 30 335 395 45 525 60
®15 D18 P22 @25 @30 D355 P45 D55

2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/8 2-PT1/4 2-PT1/4 2-PT3/8 2-PT3/8

P5 P5 P5 P5 P7 P7 P7 P7
355 395 45 45 45 53 53 53
32 33 385 385 405 49 49 575
9.8 9 11 11 11 13 13 17
117 13 145 145 145 205 205 24
17 19 21 21 21 245 245 245
25 29 29 29 29 38 38 38

NG
(PIBxiFE) M3x05 M3x05 M3x05 M3x05 M3x05 M4x0.7 M4x0.7 M4x0.7

(Nominal
xDepth)

x5 x5 x5 x5 x5 X6 X6 X6

PNEUMATIC & HYDRAULIC CLAMPS | 042



Unit:mm

. AERCHA-GXDEIERHIARE MODEL CHA- CHA- CHA- CHA- CHA- CHA- CHA- CHA-
ITEM  036XD 040D 048D 055D 065%D 075%D 090XD 105%D

BCRERILEEE

% S/Té:ls;lvr:;g 135:55/8 145:65/8 15575/8 18585/10 20:10/10 24:12/12 26:14/12 32:16/16

RE Uﬁf’;jﬁ,"‘ﬁﬁg 1145 128 1415 1585 169 194 216 253

\ - B 67 745 8 92 97 112 123 147

C 25 25 28 30 31 38 46 56

WA DI 14 16 19 22 25 31 38 44

: (m W 11 12 14 15 16 16 18 19

oD N e v 13 15 18 21 24 30 37 43
5 | azisriER) ®BB O17 20 B25 28 B34 D40 D49 DO

HERT REEEERIE

®D D66 D73 D83 D88 B106 D116 D136 D152
®DA D8 D12 P14 D14 D14 P18 D18 D18
L ‘ _] DB 8 10 10 10 10 10 10 10

DE  M4X10 M6X15 M8X18 M8X18 M8X18 M10X21 M10X21 M10X21
Pl DF 6 0 12 12 12 16 16 16
E1  M14X15 M16X15 M20X15 M22X15 M27X15 M30X15 M39X1.5 M48X15
DC 2.5 3 3 3 3 3 3 3

v
BE1/10_ W
D1

®DD D25 D29 36 #36 P43 O50 D65 D80

o O ®36 D40 D48 D55 D65 D75 B0 P05

< N 4 45 51 60 70 80 95 110

)2 49 54 61 6 81 92 107 122

J3 29 315 355 39 46 52 595 67

K 0314 034 [M40 047 055 (63 075 (188
| 45075 05509 05509 GGEDTI G6BDTT 09014 O11-0175 014020

X5D X6D X6D X7D X7D X9D X11D X14D

iy M 16 18 22 24 30 32 37 45

- T N 235 26 30 335 395 45 525 60
SR Q ®15 ®18 2 B25 B30 355 P45 D55

00D Y 5 6 8 8 10 10 14 14

HEMAL Clamping port  A-A EEt
%Hm}t impraor 5 2 ot 2.TI/8 2T1/8 2PTI/B 2PTI/8 2:TI/A 2PTI/4 2PT3/8 2PT3/E
o Re P5 PS5 Ps P5 P7T  P7T P77
DF

Z(fEF) Q2 a3 c3 a3 c4 5 cé C6

R 28055 SPECIFICATION

B Copeey WETE AEGE @R RESE  AASH SUEEEE DASEDE GRE0E e
MODEL CLAMPING FORCE SWING CLAMPING TOTAL CYLINDER CAPACITY  CYLINDER CAPACITY EFFPISTON AREA  EFFPISTON AREA RANGE OF USABLE
AT 70 kgf/cm? (kgf)  STROKE (mm) STROKE (mm) STROKE(mm)  UNCLAMP(cm) CLAMP(cr) UNCLAMP(cm)  CLAMP(cm?)  TEMPERATURE(C) FLUID
CHA-036%D 2478 55 8 135 6.48 478 48 354 -10~+70°C
CHA-040xD 350 6.5 8 145 929 7.25 6.41 50 10~+70°C icope
CHA-048%D 4865 7.5 8 155 1427 10.77 9.21 695 -10~+70°C #4is0-vG-
CHA-055%D 721 85 10 185 2527 19.06 13.66 103 -10~+70°C B
CHA-065xD 938 10 10 20 37.76 26.8 18.88 134 -10~+70°C  preaite !
CHAO75%D 1421 12 12 24 66.34 48.7 2764 203 -10~+70°C 1SOVe-32
CHA-090%D 2065 14 12 26 111.28 76.7 428 295 -10~+70°C
CHA-105%D 2891 16 16 32 11987 1322 6246 413 -10~+70°C

043 | & i B K 5



HYDRAULIC SWING CLAMPS | iHE#E&IIZRT

CHA-P

R AL

CHA HYDRAULIC
SWING CLAMP

Pt = FEATURES ZImEE Sectional view
R EREEIFBENEST, (FEEE This series product with the optimal design, so RS
MEBE, BSTESKRE, EREATHE ;naccije r?orihimpact_ almgi sttrengthfcdan.be in;pr?ved, f iﬁ%ﬁ%g\iﬂ? .
FERSREESRET 128 T AN BIR T roduct with specidl Gust proot design, dust proo o
P and sealing have been improved, so it has high

““imz; e L o sealing performance. e
EmicERTERRnHEE, SRS Design of product structure with high anti-torque,

[P SER realize high durability.

Max. operating pressure : 70 kgf/cm?
Min. operating pressure : 15 kgf/cm’
Double acting

BRAIRIEES]: 70 kgf/cm’
R/NRIEESD: 15 kgf/cm?
Esps=l: EE=

ERHIR NOTE
R R F R S,
ERRERNER, BEREE,
RS, RORAATSE,

The acting speed of clamping-unclamping should be slowed down.

The methods remove and the rotation diagram of the clamp arm, please
refer to page 4.

Orders with customized request are available, welcome to reach us.

FTHB1Z~% ORDERING INDICATION

~ff): CHA-040PSL-90
CHA-P %3l Series CHA-P
040 036/040/048/055/065/075/105
S: EiEFFE S Single side arm
D: #82F% D: Double side arm

AL (£8)

S EEEEEYZ( Clamping arm type

#BASMAR ()
TR e

L: Left

A7 L: &
R: & R: Right

Swing direction

HE REE

p=ivi |
BRE

1EEAE Standard angle90° (+2°)

90  WAEMESwing angle TIETHME  Order angle30° (£2°) , 45° (+2°) , 60° (+2°)

it EERERACILERS

045 | & i B 4 K 5

“y

NS
=i

PNEUMATIC & HYDRAULIC CLAMPS | 046

Unit:mm

MODEL
SINGLE SIDE SWING CLAMP DOUBLE SIDE SWING CLAMP TN CHAO36P CHA0AOP CHA-048P CHA-0SSP CHAO65P CHAOTSP CHA-105P
C 48 55 60 66 82 % 120
SEHERS o sgmpman EmbmC PF 8 8 10 12 16 18 22
R4-Z1 P _ T [camestie) E 19 225 25 285 35 43 54
! CERS H F 35 35 40 46 5 68 88
. 1@ ‘ I G 3 39 47 53 63 78 100
6 & 1 5 H 14 18 224 25 30 355 45
7® J 77 83 R 99 113 1245 1485
svow,/| oo | rs RS K 485 54 61 66 77 84 97
BAX £ 0D X | LA L 285 29 31 33 3 405 515
(FEER M 175 20 225 255 285 30 375
NEE 16 20 25 25 27 35 45
‘;g%? 65 8 9 9 10 12 13
s v R1 125 125 125 125 14 14 21
S Y i R2 18 22 24 28 36 45 50
110 IE S N R3 225 25 28 305 36 42 57
ﬁ gH‘ 8 2PGHE Sg;ﬂ 162 20 22 26 30 38 50
R L o s 19 22 27 30 36 46 55
e A
0 h 1 1 B ~EF)
ik | z 1 “%ﬁ] 2 UGBBE  Mix  Mi4x  MIB<  MOx  M24x M30x  M39
! IIRSY Y il E#A%E)  15(12Nem) 1526 Nem) 15(51 Nem) 1560 Nem) 1.5(86 Nem) 1.5(120 Nem) 1.5(180 Nem)
- A— \Y; 20 195 20 20 195 20 26
‘ 5 W 43 55 55 68 9 11 14
- X 8 95 95 11 14 175 20
ey Y Gi/8 GI/8 GI/8 GI/8 Gl/4 Gl/A G3/8
z1 R3 R3 R3 R5 R6 R7  RIO
PE 12 16 204 23 28 335 43
PC 8 8 10 12 14 19 24
PD 9 9 11 13 15 20 25
AB 9 105 105 105 125 125 145
® 3&$5mFL Clamping port OBEORng P7 p7 p7 P7 P8 P8 P10
@27, Unclamping port i
PG 6" 6", 100 127 1607 207
PM 113 1215 137 151 172 195 2365
HD 3+00140 4+00180 4+00180 5+00180 6+0.0180 6+0.0180 6+0.0180
TE(SISH  03(h8)x8 P4(h8)x10 B4(h8)x10 B5(h8)x10 D6(hB)x12 DE(h8)x12 B6(h)x 14
MR 28 SPECIFICATION
mg OO waGE KRGR SGE BESE  RASH BHSEDE B\SEDE ERENeR e
MODEL CLAMPING FORCE SWING CLAMPING TOTAL CYLINDER CAPACITY CYLINDER CAPACITY EFFPISTON AREA EFFPISTON AREA RANGE OF USABLE
AT 70 kgf/cm? (kgf)  STROKE (mm) ~ STROKE (mm)  STROKE(mm)  UNCLAMP(cm’) CLAMP(cm) UNCLAMP(crm) CLAMP(cm) TEMPERATURE(°C) FLUID
CHA-036P 8 8 16 79 54 49 34 0~+70°C
CHA-040P 10 8 18 119 74 6.6 4.06 0~+70°C  iussisonim
CHA-048P 12.5 8 20.5 209 12.7 10.2 6.2 0~+70°C  Z40ISO-VG-
CHA-055P 135 10 235 357 24.2 15.2 103 0~+70°C 2 PE
CHA-065P 165 10 265 52 333 1963 1257 0~+70°C  pyieweo!
CHA-075P 185 10 285 94.6 66.4 33.17 233 0~+70°C  150-VG-32
CHA-105P 23 13 36 190.1 1329 52.78 369 0~+70°C



	2020版嘉刚气油压缸目录-0316_部分11.pdf
	2020版嘉刚气油压缸目录-0316_部分12.pdf



